32
31 AL SUS304 1 22 | a—J —ERAE HANTroHT7—8R 1.6t 4
oo oo 30 REALP RYT AT/ 1.6m 44 | 2.0m 44 21
| 525 252 29 RE~AMEZYZ Al 16 |20 RE(K) HNT 7o NT—FHR 16t | 1
1 [ oo 28 TyAH—AILE M12X170 8 19 [~rF— ~VMRAHE) | HA T HT—HAR 16t | 6
25257 25257 <7 XyhFryFr— WEH  4kg  18X3T7 1 18 | ~oF—  _RUNRAER)| AN T7ohT—8R 16t | 4
g WMo F ZDC #2 (7u—L1§5&) 2 17| &R £5 HNT 7 HF—8IR 0.8t | 2
gg o [T ADC #12, F#(Sus304) ¢ 8 4 16| HER £A NIy A7—8K 08t | 1
R 15| BIER 4 ANT 7V RT—GH_ 0.8t | 1
N 14 | fiE HNT7o aT7—&R 1.6t 4
Abha—2#944 iE332 | 13| @GS % v A ” 08t | 3
L L UEREE Ig332 | 12| flE S %2 Vv £ 0.8t 3
HLELLHE R M5 X6 % WE305 [ 10| 2@/ < % v . o8t | 2
M6 X 15 138 f# 7 NS 148 | 9 FERMRERE FV k| (FUFRE) ” 0.8t | 2
M6X12 59 f# 7 § 8 | B A (BHEM) (RUFRE) 0.8t | 2
7
6
5 | fHiEmts EA HNT 72 T —EEIK 1.6t | 2
E Z 4 | EELE EA ANT 7o IF—8R 1.6t | 1
T ] an 3|pimtLE ER HINVT 7 T —8kIR 1.6t | 2
@/ N~ g 2 Bl —F — = 2Eh| HATromT—8MR 1.6t | 2
1 [fifiz —F — R=2ER| 770 h5—8#K 1.6t | 2
ok No b A OB B (EE
1300 1800
® ®
L 98 9PP P .
| . .. — | . . :D N / .D:, . . /@ @\\ ,,,,,,,,,,,
@ | | ® ~ $ el & e ®—=
\ / . - % 9
@ | = = | @ @ |
L= | e JE 3 z o= s -
| .. ) g |. I8 = s =
M% LVA* GL 777777 Aﬁéf M / Ai
of 700 @) 3 | 1500 | & ] 2000 |
BEEH O~ ‘ ‘
i ] Em Al =]
X IEREL OB DN HED LIREEL L CORREDS Tl SN2V EABHIES DT e | TV TT Vs —shisR) R 1/45 R
JERET 7)) —bOL~VE RS T2 AT LI L ET, (R T EE) Pl et T | UTIC-510VWCK-P s 614




